

$$t_1 = \varepsilon_0, t_\varepsilon = 91 \Rightarrow 3d = 21 \Rightarrow d = 7 \Rightarrow t_n = 7n + 33$$

$$201 = 7n + 33 \rightarrow 178 = 7n \Rightarrow n = 25 \frac{4}{7}$$

$$t_1 = 101$$

$$101, 101, \dots, 997$$

$$\frac{997 - 101}{7} + 1 = 129$$

$$\left. \begin{array}{l} n=1 \rightarrow a_1 + a_2 + a_3 = 9 \\ n=2 \rightarrow a_2 + a_3 + a_4 = 0 \end{array} \right\} \rightarrow \begin{array}{l} a_4 - a_1 = -9 \\ a_1 + \varepsilon d - a_1 - d = 3d \end{array}$$

$$a_1 + a_2 + a_3 = 3a_1 + 9d = 3a_1 - 12 = 9 \Rightarrow a_1 = 9 \Rightarrow d = -2$$

$$a_{17} + a_{18} = 2a_1 + 23d = 18 - 46 = -28$$

$$t_r = 2^n - 1 = a_1 + rd$$

$$t_1 = 2^n + 1 = a_1 + rd$$

$$t_{12} = 2^{12} - 3 = a_1 + 12d$$

$$2^n + 2^n - 2^n - 3 = 9 \Rightarrow 2^n(1 + 2^n - 2) = 9 \Rightarrow 2^n = 9 \Rightarrow n = 2$$

$$2^2 - 1 + 2^3 + 4 - 3 = 3 + 8 + 1 = 12$$

$$a_{12} - a_{10} = 2d = 4 \rightarrow d = \frac{4}{2}$$

$$a_{12} + a_{10} = 2a_1 + 20d = 2a_1 + 40 = 44 \rightarrow a_1 = -12/2$$

$$a_{11} = a_1 + 2d = -12/2 + 4 = -2$$

$$\frac{S_{10} - S_0}{S_0} = 3 \Rightarrow \frac{S_{10}}{S_0} - 1 = 3 \Rightarrow \frac{S_{10}}{S_0} = 4$$

$$\frac{\frac{1}{x} \times (2a_1 + 9d)}{\frac{1}{x} \times (2a_1 + 9d)} = 4 \Rightarrow \frac{2a_1 + 9d}{a_1 + 9d} = 4 \Rightarrow 2a_1 + 9d = 4a_1 + 36d \Rightarrow 2a_1 = -27d \Rightarrow a_1 = -\frac{27}{2}d$$

$$t_n = t_{n-3} + 1d \rightarrow t_n = t_n - 3d + 1d \Rightarrow -3d + 1d = 0 \Rightarrow d = 0$$

$$t_9 - t_0 = (t_9 + t_0)(t_9 - t_0) = 18 \dots$$

$$\frac{18 \dots}{t_0} = \frac{18 \dots}{3d} = \frac{18 \dots}{3d} = 6$$

$$t_1 = 2(1 - 9\sqrt{3}) = 2 - 18\sqrt{3}$$

$$t_{12} = 2 + \sqrt{3} = t_1 + 11d$$

$$2 + \sqrt{3} = 2 - 18\sqrt{3} + 11d \Rightarrow 11\sqrt{3} = 11d \Rightarrow d = \sqrt{3}$$

$$d = \frac{t_n - t_1}{(n-1)+1} = \frac{2r-2}{n-1} = \frac{2}{n-1} = \frac{1d}{r_{n-1}}$$

$$\frac{18n}{r_{n-1}} = 9 \Rightarrow 18n = 9r_{n-1} \Rightarrow r_n = 9 \Rightarrow n = 3$$

$$a_n + a_{n+2} = a_r + a_{14} \Rightarrow n + n + 2 = 3 + 14 \Rightarrow n = 1$$

$$t_n = a_1 + nd = 2a_1 + 9d \rightarrow 2a_1 = -2d \Rightarrow a_1 = -d$$

$$a_r = a_1 + d = -d + d = 0$$